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1.

According to Newton’s law of cooling, the rate at which a substance cools in moving air
is proportional to the difference between the temperature of the substance and that of the
air. If the temperature of the air is 30°C and the substance cools from 100°C to 70°C in 15
minutes, find when the temperature will be 40°C. [91 J"E[} IE35T 15%]
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Newton’s law of cooling states that the time rate of change in temperature of an object
varies as the difference in temperature between object and surroundings. If an object
cools from 80°C to 60°C in 20 minutes, find the temperature in 40 minutes if the
surrounding temperature is 20°C. [91 f[1 L#?z??ﬁ%‘-}“f{’? 10%]






